
YEAR  12  PHYSICS    ANSWERS  TO  ASSIGNMENT  #2 

 

 

Q1. a)  i/   

  

   ii/ T  =                                           

 

   iii/  

 

   iv/ T  =         

 

 b)  i/  aC  =  2.55  10
-10

 m s
-2

. 

   ii/  aC  =  6.71  10
5
 m s

-2
. 

   iii/  aC  =  0.222 m s
-2

. 

   iv/  aC  =  1.83 m s
-2

. 

 

Q2. a) FC  =  m aC        FC (max’m)  =  12.1  =  0.40 aC       aC  =  30.25 m s
-2

. 

  

 b)     v
2
  =  aC r  =  30.25  0.16  =  4.84.        v  =  2.2 m s

-1
. 

 

 c)     T  =   

 

Q3. a)  

 

 b) aC    aG        m aC  =  FC  =  FG       aC  =   

 

 c)  

 

 d)       T  = 

 

Q4. a) 

 

 b)   

 

 c) FC  =  m aC   FG  =  m aG   But  FC    FG      m aC  =  m aG       5.945  10
-3

  =     

   

 

 d)  
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